
!"#$%&' ()*+µ,"-" µ) ./0&' 
1+% 21314&145+6 735,1+% R 

('µ01/'8 9+%&5#5'8, 
:;<5+%/+8 =3>'?'108, 
@+µ,38 A3>'µ3145B", 
2.+$0 :C3/µ+&µ,"-" A3>'µ3145B" 534 9%&45B" :C3/µ+?B", 
:>"45D A)1&DE4+ 7+$%1).")<+. 



('µ01/'8 9+%&5#5'8 !"#$%&' 73$4"*/Dµ'&'8 2 

7)/4).Dµ)"3 
!  :4&3?-?0 &1' 21314&1450 
!  :4&3?-?0 &1+ 21314&145D 735,1+ R 
!  7)/4?/3C450 21314&1450 
!  7/+&+µ+<-&' 
!  21314&1450 2%µ;)/3&µ31+$+?<3 

"  F"3 ()<?µ3 
"  (6+ !")G#/1'13 ()<?µ313 
"  ()<?µ313 531# H)6?' 
"  7+&+&1# 
"  F$)?.+8 53$08 ;/+&3/µ+?08 
"  7<"35)8 2%"#C)438 2I2. 

!  !"#$%&' 73$4"*/Dµ'&'8 
!  !"#$%&' (43&;+/#8 
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:4&3?-?0 
! !/5)1,8 C+/,8 &) µ43 &1314&1450 

µ)$,1' )/.Dµ3&1) 3"14µ,1-;+4 µ) 1+ 
;/DE$'µ3 1'8 !"#$%&'() µ438 
µ)13E$'108 (µ&*+$%(*, +!#-"./()) 
D13" ?"-/<J+%µ) 148 14µ,8 5#;+438 0 
5#;+4-" #$$-" µ)13E$'1B" 
(&!&0(1(µ+*.-2) µ&*+$%(*2)).  

! !8 >)-/0&+%µ) 5313/.0" D14 ,.+%µ) 
µ<3 µD"+ );)G'?'µ31450 µ)13E$'10. 
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!;$D K/3µµ45D A+"1,$+ 

! 74+ &%?5)5/4µ,"3 38 %;+>,&+%µ) D14 
L )<"34 ' µ)13E$'10 3;D5/4&'8 534 M ' 
);)G'?'µ31450 µ)13E$'10 534 38 
%;+>,&+%µ) D14 534 +4 *6+ µ)13E$'1,8 
)<"34 ;+&+145,8. 25+;D8 µ38 )<"34 "3 
*'µ4+%/?0&+%µ) ,"3 µ+"1,$+, ,&1- 
Y=g(X), ,1&4 B&1) &1+ µ,$$+" "3 
µ;+/+6µ) "3 ;/+&*4+/<&+%µ) 1'" 14µ0 
1+% Y µ) E#&' 1'" 14µ0 1+% M.   
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!;$D K/3µµ45D A+"1,$+ 
!  7B8 Dµ-8 );4$,?+%µ) 1'" &%"3/1'&4350 µ+/C0 1'8 g(X); 
N );4$+?0 1'8 531#$$'$'8 &%"#/1'&'8 g(X) µ;+/)< ?<")4 
µ) 1'" E+0>)43 )"D8 1%.3<+% *)<?µ31+8 (L1,M1),...,(Ln,Xn). 
74+ &%?5)5/4µ,"3 3" (y1,x1),…,(yn,xn) +4 ;3/31'/0&)48 
µ38, 1D1) µ;+/+6µ) "3 &.'µ31<&+%µ) 1+ ?/#C'µ3 1-" 
&'µ)<-" (yi,xi), ?"-&1D -8 *4#?/3µµ3 *43&;+/#8 1-" 
&'µ)<-", 534 "3 )514µ0&+%µ) 1'" &%"3/1'&4350 µ+/C0 
1'8 g. 

!  21+ );Dµ)"+ ?/#C'µ3, ;..., 1+ *4#?/3µµ3 *43&;+/#8 
%;+*)45"6)4 D14 ' &.,&' 1'8 M µ) 1'" L )<"34 ?/3µµ450 
534 #/3 µ;+/+6µ) "3 >)-/0&+%µ) D14 g(M)=a+bM. 
A,")4 1D1) "3 )514µ0&+%µ) 148 14µ,8 1-" a 534 b, µ) 
1'" E+0>)43 534 ;#$4 1'8 ;$'/+C+/<38 ;+% ,.+%µ) 3;D 
1+ 1%.3<+ *)<?µ3.  
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!;$D K/3µµ45D A+"1,$+ 
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!;$D K/3µµ45D A+"1,$+ 
!  H 3"#$%&' µ38 $+4;D" )<"34 )µ;)4/450 (E3&<J)134 &1'" 
%;#/.+%&3 )µ;)4/<3 µ38 µ) E#&' 1+ 1%.3<+ *)<?µ3) 534 #/3 
1+ µ+"1,$+ µ38 )<"34 &1+.3&145D. !"14>,1-8 3" ' 3"#$%&0 
µ38 013" >)-/'1450, ?"-/<J3µ) *'$3*0 D$+" 1+" ;$'>%&µD, 
1+ µ+"1,$+ >3 013" ;/+&*4+/4&145D.  

!  213 &1+.3&145# µ+"1,$3 ;/+C3"B8 ,.+%µ) )$$4;0 
;$'/+C+/<3, 1+ µ+"1,$+ &1+ +;+<+ >3 5313$0G+%µ) µ;+/)< 
"3 µ'" 453"+;+4)<134 35/4EB8 ?43 J)6?' 14µB" 1+% 
;$'>%&µ+6 ;+% *)" ,.+%" ;3/31'/'>)< &1+ 1%.3<+ *)<?µ3. 
K43 1+" $D?+ 3%1D &1+ µ+"1,$+ ;/+&>,1+%µ) 534 ,"3 1%.3<+ 
&C#$µ3 ) 1+ +;+<+ >)-/+6µ) D14 ;/+,/.)134 3;D µ43 ?"-&10 
5313"+µ0 µ) #?"-&1)8 ;3/3µ,1/+%8. @+ &1+.3&145D *'$3*0 
µ+"1,$+ ;3</")4 1'" µ+/C0 L = g(X) + ).   

!  !5+6?)134 $+?45D "3 >)-/0&+%µ) D14 ' µ,&' 14µ0 1+% ) )<"34 
0, *'$3*0 531# µ,&+ D/+ 1+ &C#$µ3 µ38 )<"34 µ'*)"45D. 
2%"0>-8 >)-/+6µ) )~O(0, &2), µ) &2 #?"-&1+. 
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!;$D K/3µµ45D A+"1,$+ 
!  !8 >)-/0&+%µ) 1B/3 D14 ' g )<"34 µ43 ?/3µµ450 &%"#/1'&',     

g(X) = a + bX, µ) a, b #?"-&1)8 ;+&D1'1)8. ('$3*0 >)-/+6µ) 
D14 ' 1%.3<3 µ)13E$'10 M );'/)#J)4 ?/3µµ45# 1'" 3"3µ)"Dµ)"' 
14µ0 1'8 1%.3<38 µ)13E$'108 Y.  

Y=a+bX+), )~O(0,&2) !  :[L | M]=a+bX 
!  P&+*6"3µ3 &) 1%.3<+ *)<?µ3 (L1,M1),...,(Ln,Xn) >)-/+6µ) D14 

4&.6)4 ' &.,&' 

Yi=a+bXi+)i, )i~O(0,&2) !  :[Li | Mi]=a+bXi 
µ) )i 3")G#/1'1)8 (534 4&D"+µ)8) 1%.3<)8 µ)13E$'1,8.  

!  @3 )i 53$+6"134 1%.3<3 &C#$µ313, 534 ;3/4&1#"+%" 1'" 
#?"-&1' 53135D/%C' 3;D5$4&' 1'8 14µ08 yi 3;D 1'" )%>)<3     

                                     ?43 *+>)<&3 14µ0 xi.   
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!;$D K/3µµ45D A+"1,$+ 
!  @+ ;3/3;#"- µ+"1,$+ 53$)<134 3;$D (?431< 
,.+%µ) µ<3 µD"+ );)G'?'µ31450 µ)13E$'10 M) 
?/3µµ45D ($D?- 1'8 ?/3µµ4508 &%"#/1'&'8 
;+% ./'&4µ+;+4+6µ)) µ+"1,$+ 
;3$4"*/Dµ'&'8. @3  a, b 534 &2 )<"34 +4 
#?"-&1)8 ;3/#µ)1/+4 1+% µ+"1,$+% µ38 
(&%"1)$)&1,8 µ+"1,$+%), 148 +;+<)8 >3 
)514µ0&+%µ) µ) 1'" E+0>)43 1-" 
;3/31'/0&)-" ;+% *43>,1+%µ) (y1,x1),…,
(yn,xn) ;+% )<"34 +4 14µ,8 )"D8  1%.3<+% 
*)<?µ31+8 (L1,M1),...,(Ln,Xn).  
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:/µ'")<3 ;3/3µ,1/-" 
!  N &13>)/# a )5C/#J)4 1'" µ,&' 14µ0 1'8 L D13" 
1+ M=0.  

!  H &13>)/# b )5C/#J)4 1+ ;D&+ 3"3µ,")134 "3 
µ)13E$'>)< ' 3"3µ)"Dµ)"' 14µ0 1'8 L, 3" ' M 
3%G'>)< 531# µ<3 µ+"#*3.  

!  N ;+&D1'13 &2 )5C/#J)4 1'" *43&;+/# 1-" 
&C3$µ#1-", 1'" +;+<3 >)-/+6µ) &13>)/0 
3")G#/1'13 1'8 14µ08 1'8 1.µ. M (%;D>)&' 
+µ+&5)*3&145D1'138). :;)4*0 ' 1%.34D1'13 1'8 
L *)*+µ,"'8 µ438 14µ08 1'8 M = x +C)<$)134 &13 
&C#$µ313, 1+ &2 )5C/#J)4 534 1'" *43&;+/# 1'8 
*)&µ)%µ,"'8 5313"+µ08 1'8 1.µ. L|x.    
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!;$D K/3µµ45D A+"1,$+ 

Y=a+bX+), )~O(0,&2) " L|x~N(a+bx, &2) 
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!;$D K/3µµ45D A+"1,$+ 
!  :514µB"138 $+4;D" 13 a 534 b 3;D 13  534  
3"1<&1+4.3 5313$0?+%µ) &1+ 

!  @+   53$)<134 ;/+E$);Dµ)"' 14µ0 534 )<"34 D;-8 
)<*3µ) ' 3"3µ)"Dµ)"' 14µ0 ;+% >3 ;#/)4 ' L 
D13" M=x, D;-8 3%10" 1'" )514µ0&3µ) µ) E#&' 
1+ µ+"1,$+ ;3$4"*/Dµ'&'8. N ;/+E$);Dµ)"' 
14µ0 )<"34 1.µ., *'$3*0 ?43 *43C+/)145D *)<?µ3 
)"*,.)134 "3 ;#/)4 #$$' 14µ0 D13" X=x.  N 
;/+E$);Dµ)"' 14µ0 3;+1)$)< µ<3 3µ)/D$';1' 
)514µ01/43 1'8 µ,&'8 14µ08 1'8 1.µ. L, D13" 
X=x. 73/35#1- >3 *+6µ) 534 ,"3 (.:. ?43 1'" 
µ,&' 14µ0 3%10 D13" X=x.  
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!;$D K/3µµ45D A+"1,$+ 
!  K43 5#>) ;3/310/'&' xi µ;+/+6µ) "3 
%;+$+?<&+%µ) 148 ;/+E$);Dµ)")8 14µ,8 

!  !" ' )%>)<3        *)" ;)/"#)4 35/4EB8 3;D 
13 &'µ)<3 (yi,xi), ;)/4µ,"+%µ) "3 ,.+%µ) 
3;+5$<&)48 µ)13G6 1-" yi 534 1-"  

!  Q4 ;+&D1'1)8          3;+1)$+6" 148 )514µ0&)48 
1-" #?"-&1-" 1%.3<-" &C3$µ#1-" )i 534 
53$+6"134 %;D$+4;3 (residuals).  
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!;$D K/3µµ45D A+"1,$+ 
!  @+%8 &%"1)$)&1,8 1+% µ+"1,$+% 1+%8 )514µ+6µ) 

µ) E#&' 148 ;3/31'/0&)48 (y1,x1),...,(yn,xn), 
)C3/µDJ+"138 1' µ,>+*+ )$3.<&1-" 
1)1/3?B"-".  

!  A) 1'" µ,>+*+ )$3.<&1-" 1)1/3?B"-" 
);4$,?+%µ) 1'" )%>)<3 (*'$3*0 13    534    )       
)5)<"' ;+%  ;/+&3/µDJ)134 53$61)/3 &13 
*)*+µ,"3 ;+% ,.+%µ). 74+ &%?5)5/4µ,"3 
);4$,?+%µ) 1'" )%>)<3 )5)<"'    ;+% 
)$3.4&1+;+4)< 1+ #>/+4&µ3 1-"   2 
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!;$D K/3µµ45D A+"1,$+ 
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!;$D K/3µµ45D A+"1,$+ 

! A)1# 3;D ;/#G)48 ;/+56;1+%" 1D1) +4 
)514µ01/4)8  

 +4 +;+<)8 )<"34 1%.3<)8 µ)13E$'1,8 
(3;D *43C+/)145D *)<?µ3 )"*,.)134 "3 
;/+56R+%" *43C+/)145,8 )514µ01/4)8). 
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!;$D K/3µµ45D A+"1,$+ 
!  @+ &2 1+ )514µ+6µ) 3;D 1'" ;+&D1'13 

 N >)1450 1)1/3?-"450 1'8 /<J3 1'8 ;3/3;#"- 
)514µ01/438 53$)<134 1%;45D &C#$µ3 1'8 
;3$4"*/Dµ'&'8 534 D&+ µ45/D1)/' 14µ0 ,.)4 1D&+ 
53$61)/' ;/+&3/µ+?0 ,.+%µ) ?43 1+ µ+"1,$+ 
;3$4"*/Dµ'&'8.  

!  To        3;+1)$)< 3µ)/D$';1' )514µ01/43 1+% &2 534 
53$)<134 µ,&+ 1)1/3?-"45D &C#$µ3 (MSE).   

:51<µ'&' *43&;+/#8 
1-" &C3$µ#1-"  
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!;$D K/3µµ45D A+"1,$+ 



('µ01/'8 9+%&5#5'8 !"#$%&' 73$4"*/Dµ'&'8 19 

2%"1)$)&108 2%&.,14&'8 
!  Q &%"1)$)&108 &%&.,14&'8 (correlation 

coefficient)  µ)13G6 1-" 1.µ.  M 534 L  
)5C/#J)4 1+ “E3>µD” &1+" +;+<+ µ;+/+6µ) 
"3 )514µ0&+%µ) ?/3µµ45# 1' µ<3 1.µ. D13" 
?"-/<J+%µ) 1'" 14µ0 1'8 #$$'8.  

!  S13" /=0 +4 1.µ. M 534 L )<"34 3&%&.,14&1)8. 
S13" /=1 %;#/.)4 1,$)43 >)1450 ?/3µµ450 
&%&.,14&' 1-" *6+ 1.µ. )"B D13" /=-1 
%;#/.)4 1,$)43 3/"'1450 ?/3µµ450 
&%&.,14&'.  



('µ01/'8 9+%&5#5'8 !"#$%&' 73$4"*/Dµ'&'8 20 

2%"1)$)&108 2%&.,14&'8 

! S13" *)" ?"-/<J+%µ) 1+ / 1+ 
)514µ+6µ) µ) 1'" E+0>)43 1-" 
;3/31'/0&)-" (yi,xi) 

 3;D 1+ *)4?µ3145D &%"1)$)&10 
&%&.,14&'8.  
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2%"1)$)&108 2%&.,14&'8 
!  Q *)4?µ3145D8 &%"1)$)&108 &%&.,14&'8 )514µ# 1+ 
E3>µD &1+" +;+<+ +4 1.µ. M 534 L )<"34 ?/3µµ45# 
&%&.)14&µ,")8, .-/<8 "3 &%");#?)134 531# 3"#?5' 
5#;+4+ )<*+8 34143508 &.,&'8 µ)13G6 1-" M 534 L.  

!  !/5)1# &%."# µ38 )"*43C,/)4 "3 )$,?G+%µ), &) ).&. 
,&1- 3%, 531# ;D&+ +4 *6+ 1.µ. M 534 L )<"34 
3&%&.,14&1)8 0 D.4, *'$3*0 1+" ,$)?.+ N0: /=0 µ) 
)"3$$351450 N1: /T0. 

!  !;+*)45"6)134 D14 5#1- 3;D 1'" µ'*)"450 %;D>)&'  
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2%"1)$)&108 2%&.,14&'8 
!  L;+$+?<J+%µ) $+4;D" 1'" 14µ0 1+% &1314&145+6 )$,?.+% @ 534 ' 

P-14µ0 1+% 3µC<;$)%/+% )$,?.+% )<"34 2 C+/,8 ' ;4>3"D1'13 
*)G4# 1+% |@| µ) E#&' 1'" St(n-2).  

!  21'" R µ;+/+6µ) "3 )C3/µD&+%µ) 1+" )" $D?- ,$)?.+ µ) 1'" 
E+0>)43 1'8 )"1+$08 cor.test(X,Y).  

!  !" +4 *%+ µ)13E$'1,8 *)" )<"34 53"+"45,8 534 1+ *)<?µ3 *)" 
)<"34 µ)?#$+ 1D1) + ;3/3;#"- ,$)?.+8 (?"-&1D8 µ) 1+ D"+µ3 
Pearson correlation coefficient test) *)" )<"34 ;$,+" ,?5%/+8. 
7/,;)4 3"1< 3%1+6 "3 )C3/µ+&1)< + µ' ;3/3µ)1/45D8 Spearman 
rank correlation coefficient test, 531# 1+" +;+<+ 3"1453>4&1+6µ) 
148 ;3/31'/0&)48 µ) 1'" &)4/# 531#13G'8 1-" 14µB" 1+%8 (rank) 
534 )C3/µDJ+%µ) 1'" ;/+'?+6µ)"' µ)>+*+$+?<3. 

!  21'" R µ;+/+6µ) "3 )C3/µD&+%µ) 1+" µ' ;3/3µ)1/45D ,$)?.+ 
µ) 1'" E+0>)43 1'8 )"1+$08 cor.test(X,Y, method=“spearman”). 

!  S13" &1+ *)<?µ3 %;#/.+%" 4&+;3$<)8 (;3/31'/0&)48 µ) 1'" <*43 
14µ0) ' ;3/3;#"- )"1+$0 µ38 *<")4 ;/+)4*+;+4'145D µ0"%µ3 534 
*)" %;+$+?<J)4 1'" 35/4E0 P-14µ0 1+% )$,?.+% 3$$# 3%10 ;+% 
;/+56;1)4 3;D µ43 ;/+&,??4&'.  
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2%"1)$)&108 7/+&*4+/4&µ+6 
!  21+ 3;$D ?/3µµ45D µ+"1,$+ ' ;+&D1'13 

 53$)<134 &%"1)$)&108 ;/+&*4+/4&µ+6, ;3</")4 14µ,8 &1+ 
[0,1] 534 )5C/#J)4 1+ ;+&+&1D 1'8 *43&;+/#8 1'8 1.µ. L 
;+% )G'?)<134 µ) E#&' 1+ µ+"1,$+ ;3$4"*/Dµ'&'8. 
!;+*)45"6)134 D14, &1+ 3;$D ?/3µµ45D µ+"1,$+,  ' 
;3/3;#"- ;+&D1'13 4&+6134 µ) 1+ 1)1/#?-"+ 1+% 
*)4?µ3145+6 &%"1)$)&10 &%&.,14&'8 r. K)"45# D&+ 
µ)?3$61)/)8 14µ,8 ;3</")4 + &%"1)$)&108 ;/+&*4+/4&µ+6 
1D&+ 4&.%/D1)/' )<"34 ' ?/3µµ450 &.,&' )G#/1'&'8 1-" 
1.µ. L 534 M, %;D 1'" ;/+U;D>)&' D14 1+ ?/3µµ45D 
µ+"1,$+ )<"34 1+ 531#$$'$+.  
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2%"1)$)&108 7/+&*4+/4&µ+6 
!  !/5)1,8 C+/,8 %;+$+?<J+%µ) 534 1+" *4+/>-µ,"+ 
&%"1)$)&10 ;/+&*4+/4&µ+6 

      1+% +;+<+% ' )/µ'")<3 *<")134 &1+ ;+$$3;$D ?/3µµ45D 
µ+"1,$+.  
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2%"1)$)&108 7/+&*4+/4&µ+6 

R2=0.69 

R2=0.46 

:&C3$µ,"' %;D>)&'  
?/3µµ45D1'138 
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  Q4 )514µ0&)48 1-" a 534 b ;+% 
$3µE#"+%µ) µ) 1'" µ,>+*+ )$3.<&1-" 
1)1/3?B"-" E3&<J+"134 &13 
&%?5)5/4µ,"3 *)*+µ,"3 ;+% *43>,1+%µ). 
2%."# $+4;D" )"*43C)/Dµ3&1) "3 
)$,?G+%µ) 148 35D$+%>)8 %;+>,&)48, &) 
).&. ,&1- 3: 

"  N0: b=0 ,"3"14 1'8 )"3$$3514508 N1: b # 0 

"  N0: a=0 ,"3"14 1'8 )"3$$3514508 N1: a # 0 
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  A) 1+" ;/B1+ ,$)?.+ >,$+%µ) "3 
*43;4&1B&+%µ) 3" ;/#?µ314 36G'&' 531# 
µ43 µ+"#*3 1'8 M &'µ3<")4 534 µ)13E+$0 
1'8 3"3µ)"Dµ)"'8 14µ08 1'8 L.  

!  21+ *)61)/+ ,$)?.+ >,$+%µ) "3 *+6µ) 
531# ;D&+ ' 3"3µ)"Dµ)"' 14µ0 1'8 L 
)<"34 0 D13" M=0. 7+$$,8 C+/,8 ' 14µ0 
3%10 *)" ,.)4 )/µ'")<3, *4D14 ' 14µ0 M=0 
*)" ;3/31'/)<134 ;+1, &1'" ;/#G'. 
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  @3 &1314&145# )$,?.+% µ) E#&' 148 
µ'*)"45,8 %;+>,&)48 1D1) )<"34: 



('µ01/'8 9+%&5#5'8 !"#$%&' 73$4"*/Dµ'&'8 29 

2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 
!  L;+$+?<J+%µ) $+4;D" 13 ;3/3;#"- *6+ &1314&145# 
)$,?.+% @1 534 @2 534 ' P-14µ0 1-" )$,?.-" )<"34 2 C+/,8 
' ;4>3"D1'13 1'8 ;)/4+.08 1'8  St(n -2) *)G4# 3;D 148 
14µ,8 1-" &1314&145B" )$,?.-" ;+% ;3/31'/+6µ).  

!  P&+*6"3µ3 >3 µ;+/+6&3µ) "3 )<.3µ) 5313&5)%#&)4 
&%µµ)1/45# (1-3)% (.:. ?43 13 a 534 b 534 "3 )$,?G+%µ) 
3" ' 14µ0 0 3"05)4 &’ 3%1# 13 (.:.   

(1-3)% (.:. ?43 1+ b 

(1-3)% (.:. ?43 1+ a 
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  F"38 #$$+8 ,$)?.+8 ;+% &%"0>-8 
)G)1#J+%µ) &1+ µ+"1,$+ ;3$4"*/Dµ'&'8, 
?"-&1D8 µ) 1'" +"+µ3&<3 F-test, )<"34 534 + 
;3/35#1-, + +;+<+8 )$,?.)4 531# ;D&+ 1+ 
;/+1)4"Dµ)"+ µ+"1,$+ y=a+bx *43C,/)4 
3;D 1+ &13>)/D  y=a. 21'  3;$0 ?/3µµ450 
;3$4"*/Dµ'&' + )" $D?- ,$)?.+8 )<"34 
4&+*6"3µ+8 µ) 1+" ,$)?.+ ?43 1+ b ;+% 
)<*3µ) ;/4".   
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  L;+$+?<J+%µ) 1+ &1314&145D )$,?.+%  

 1+ +;+<+ 5#1- 3;D 1'" µ'*)"450 %;D>)&' 
N0:b=0 (µ) )"3$$351450 N1:bT0) 35+$+%>)< 
1'" F(1,n-2). L;+$+?<J+%µ) $+4;D" 1'" 14µ0 
1+% &1314&145+6 )$,?.+% F 534 ' P-14µ0 )<"34 
;4>3"D1'13 1'8 ;)/4+.08 1'8  F(1,n-2) *)G4# 
3;D 1+ F ;+% ;3/31'/+6µ).  
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2%µ;)/3&µ31+$+?<3 &1+ !;$D 
K/3µµ45D A+"1,$+ 

!  @,$+8 ,"3 &%µµ)1/45D (1-3)% (.:. ?43 1+ 
y D13" X=x )<"34 1+ 
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7/+U;+>,&)48 3;$+6 ?/3µµ45+6 
µ+"1,$+%   

1.  K/3µµ45D1'13 
2.  =3"+"45D1'13 2C3$µ#1-" 
3.  Qµ+&5)*3&145D1'13 
4.  !")G3/1'&<3 2C3$µ#1-" 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
!  A)1/0&)48 1'8 ;+&D1'138 +G)4*<+% L ;+% &.'µ31<J)134 
&1'" );4C#")43 )"D8 µ)1#$$+% ;+% 1<>)134 ?43 ./D"+  M 
(min) &) 5$<E3"+ &13>)/08 >)/µ+5/3&<38 *<")134 3;D 1+" 
;3/35#1- ;<"353.  

 H'1)<134 "3 ;/+&3/µD&+%µ) ,"3 µ+"1,$+ 3;$08 
?/3µµ4508 ;3$4"*/Dµ'&'8 534 "3 )$,?G+%µ) 531# ;D&+ + 
./D"+8 M D;+% 1+ µ,13$$+ 1<>)134 &) 5$<E3"+ &13>)/08 
>)/µ+5/3&<38 );'/)#J)4 1'" ;+&D1'13 +G)4*<+% L ;+% 
&.'µ31<J)134 &1'" );4C#")43 1+% µ)1#$$+%.  

x 10 20 30 40 50 60 70 80 90 

y 2.0 5.0 6.5 9.5 11.0 13.5 15.0 17.5 19.0 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

> x<-seq(10,90,by=10) 
> x 
[1] 10 20 30 40 50 60 70 80 90 
> y<-c(2,5,6.5,9.5,11,13.5,15,17.5,19) 

 ('µ4+%/?+6µ) ,"3 *4#?/3µµ3 *43&;+/#8, 
µ43 3;)45D"4&' *'$3*0 1-" &'µ)<-" (xi,yi), 
?43 "3 )$,?G+%µ) 3" ' ?/3µµ450 &%"#/1'&' 
C3<")134 "3 )<"34 ' 531#$$'$'.  

> plot(x,y)  
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

L;D>)&' ?/3µµ45D1'138 $+?450 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

> results<-lm(y~x) 
> results 

Call: 
lm(formula = y ~ x) 

Coefficients: 
(Intercept)            x   
     0.4583       0.2108   

2%"#/1'&' &1'" R ;+% ;/+&3/µDJ)4 
1+ ?/3µµ45D µ+"1,$+ µ) y 13 *)*+µ,"3 
?43 1'" µ)13E$'10 3;D5/4&'8 534 x 13 
*)*+µ,"3 ?43 1'" );)G'?'µ31450  
µ)13E$'10. 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
> plot(x,y) 
> abline(results) 

:%>)<3 )$3.<&1-" 1)1/3?B"-" 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
> summary(results) 

Call: 
lm(formula = y ~ x) 

Residuals: 
       Min         1Q     Median         3Q        Max  
-5.667e-01 -2.833e-01  1.559e-16  3.250e-01  6.083e-01  

Coefficients: 
                   Estimate Std. Error  t value Pr(>|t|)     
(Intercept) 0.458333   0.312573   1.466    0.186     
x           0.210833   0.005555  37.957 2.29e-09 *** 
--- 

Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1  

Residual standard error: 0.4303 on 7 degrees of freedom 
Multiple R-squared: 0.9952,     Adjusted R-squared: 0.9945  
F-statistic:  1441 on 1 and 7 DF,  p-value: 2.292e-09  

7)/4?/3C45+< *)<51)8 
%;+$+<;-" 

P-14µ0 ?43 1+" ,$)?.+ 1+% a 

P-14µ0 ?43 1+" ,$)?.+ 1+% b 

R2 

F P-14µ0 ?43 1+" F ,$)?.+ 1+% b (<*4+ µ) 1+ ;3/3;#"-) 

*4+/>-µ,"+8 &%"1)$)&108 
;/+&*4+/4&µ+6 
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> confint(results) 
                 2.5 %    97.5 % 
(Intercept) -0.2807838 1.1974504 
x            0.1976989 0.2239678 

73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

2%µµ)1/45# 95% (.:. ?43 148 ;3/3µ,1/+%8 

2%µµ)1/45D 95% (.:. ?43 1+ a 

2%µµ)1/45D 95% (.:. ?43 1+ b (*)" ;)/4,.)4 1+ 0) 

> predict(results) 
        1         2                3               4               5             6                  7         8  
 2.566667  4.675000  6.783333  8.891667 11.000000 13.108333 15.216667 17.325000  
        9  
19.433333  

7/+E$);Dµ)")8 14µ,8 ?43 5#>) xi. @+ <*4+ 3;+1,$)&µ3 
;/+56;1)4 534 µ) 1'" )"1+$0 fitted(results), #!3) -+.  
µ& *(4 &4*5%, results$fitted.   

> confint(results, level=0.99) 
                 0.5 %    99.5 % 
(Intercept) -0.6355098 1.5521764 
x            0.1913952 0.2302714 

2%µµ)1/45# 99% (.:. ?43 148 ;3/3µ,1/+%8 

> residuals(results) 
            1             2                         3                     4                  5  
-5.666667e-01  3.250000e-01 -2.833333e-01  6.083333e-01  1.558947e-16  
            6             7                       8                    9  

 3.916667e-01 -2.166667e-01  1.750000e-01 -4.333333e-01  

L;D$+4;3. @+ <*4+ 3;+1,$)&µ3 ;/+56;1)4 534 µ) 1'" )"1+$0 
results$res.  
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> predict(results, int="c") 
        fit       lwr       upr 
1  2.566667  1.941342  3.191992 
2  4.675000  4.155123  5.194877 
3  6.783333  6.354364  7.212303 
4  8.891667  8.527990  9.255343 
5 11.000000 10.660870 11.339130 
6 13.108333 12.744657 13.472010 
7 15.216667 14.787697 15.645636 
8 17.325000 16.805123 17.844877 
9 19.433333 18.808008 20.058658 

73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

7/+E$);Dµ)")8 14µ,8 1-" y 534 &%µµ)1/45# 95% (.:. 
?43 5#>) xi 

> predict(results,list(x=c(15,47)), int="c") 
        fit       lwr       upr 
1  3.620833  3.049573  4.192094 
2 10.367500 10.026088 10.708912 

7/+E$);Dµ)")8 14µ,8 1-" y 534 &%µµ)1/45# 95% (.:. 
D13" x=15 534 x=47  

> predict(results,list(x=c(15,47)), int="c", level=0.99) 
        fit      lwr      upr 
1  3.620833 2.775406  4.46626 
2 10.367500 9.862234 10.87277 

7/+E$);Dµ)")8 14µ,8 1-" y 534 &%µµ)1/45# 99% (.:. 
D13" x=15 534 x=47  
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
!  73/31'/+6µ) $+4;D" D14 

!  !5Dµ3 ;3/31'/+6µ) D14 + &%"1)$)&108 ;/+&*4+/4&µ+6 
R2= 0.99, ,.+%µ) *'$3*0 &.)*D" 1,$)43 ;/+&3/µ+?0 1+% 
µ+"1,$+%, )"B Sy|x=0.42 (3/5)1# µ45/D.) 

!  @,$+8 >3 µ;+/+6&3µ) "3 )<.3µ) %;+$+?<&)4 1+" 
*)4?µ3145D &%"1)$)&10 &%&.,14&'8 µ) 1'" E+0>)43 1'8 
)"1+$08 cor(x,y) 

> cor(x,y) 
[1] 0.9975795 
> cor(x,y)^2 
[1] 0.9951648 

=R2 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
!  21+" ,$)?.+ ?43 1+ b E$,;+%µ) D14 ' P-14µ0 
)<"34 ;+$6 µ45/0 +;D1) ;/#?µ314 36G'&' 531# 
µ43 µ+"#*3 1'8 M &'µ3<")4 534 µ)13E+$0 1'8 
3"3µ)"Dµ)"'8 14µ08 1'8 L. 74+ &%?5)5/4µ,"3 
36G'&' 1+% ./D"+% 531# 1 $);1D &'µ3<")4 
36G'&' 1'8 3"3µ)"Dµ)"'8 ;+&D1'138 
+G)4*<+% 531# 0.21.  

!  !"14>,1-8 ' &13>)/# *)" C3<")134 3;D 1'" 
p-14µ0 1+% 3"1<&1+4.+% )$,?.+% "3 )<"34 
&1314&145# *4#C+/' 1+% µ'*)"D8.   

!  K43 "3 )$,?G+%µ) 148 ;/+U;+>,&)48 1+% 
µ+"1,$+% 5#"+%µ) 13 )G08: 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

!  K/3µµ45D1'13. V*' )$,?.>'5) µ) 1+ *4#?/3µµ3 
*43&;+/#8. 

!  =3"+"45D1'13 &C3$µ#1-". P&1+?/#µµ313 534 
QQplots ?43 13 %;D$+4;3. 7...  

 > qqnorm(results$res) 
 > qqline(results$res) 

%;D$+4;3 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

!  Qµ+&5)*3&145D1'13. K/3C450 ;3/#&13&' 1-" 
%;+$+<;-" &%"3/10&)4 1-" ;/+E$);Dµ)"-" 
14µB" 0 &%"3/10&)4 1-" 14µB" 1'8 M. @3 J)6?' 
3%1B" 1-" 14µB" *)" ;/,;)4 "3 )µC3"<J+%" 
5#;+4+ &%&1'µ3145D 1/D;+ &%µ;)/4C+/#8.  

 > plot(results$res, results$fitted) 
 > plot(results$res, x) 

;/+E$);Dµ)")8 14µ,8 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

!  !")G3/1'&<3 &C3$µ#1-". =313&5)%#J+%µ) ,"3 
*4#?/3µµ3 %;+$+<;-" &) &.,&' µ) 1'" &)4/# 
1-" *)*+µ,"-", &1+ +;+<+ *)" ;/,;)4 "3 
;3/+%&4#J)134 5#;+43 &.,&' 534 13 %;D$+4;3 "3 
&%µ;)/4C,/+"134 1%.3<3.  

> plot(1:9,results$res) 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 
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73/#*)4?µ3 3;$+6 ?/3µµ45+6 
µ+"1,$+% &1'" R 

! (4#C+/3 *43?"-&145# *43?/#µµ313 
µ;+/+6" "3 ?<"+%" &1'" R µ) 1'" 
E+0>)43 1'8 )"1+$08 

 > plot(results) 
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                 bj        0.    
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   .      .      .      .  

0:  bp 1:  bp     0  
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R  

  Y    X1   X2 

1 11.14 11.1 0.499 

2 12.74 8.9 0.558 

3 13.13 8.8 0.604 

4 11.51 8.9 0.441 

5 12.38 8.8 0.550 

6 12.60 9.9 0.528 

7 11.13 10.7 0.418 

8 11.70 10.5 0.480 

9 11.02 10.5 0.406 

10 11.41 10.7 0.467 



     66  

R  

>  Y<-­c(11.14,  12.74,  13.13,  11.51,  12.38,  
12.60,  11.13,  11.70,  11.02,  11.41)  

>  X1<-­c(11.1,  8.9,  8.8,  8.9,  8.8,  9.9,  10.7,  
10.5,  10.5,  10.7)  

>  X2<-­c(0.499,  0.558,  0.604,  0.441,  0.55,  
0.528,  0.418,  0.48,  0.406,  0.467)  

>  cor(X1,X2)  
[1]  -­0.6077351  
  

1   2    
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R  
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>  plot(Y,X1)  
>  plot(Y,X2)  
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R  
>  results<-­lm(Y~X1+X2)  
>  results  
Call:  
lm(formula  =  Y  ~  X1  +  X2)  
Coefficients:  
(Intercept)                      X1                      X2    
      10.3015            -­0.2663              8.4947      
>  residuals(results)  
            
     -­0.44421731    0.06868776    0.04129893  -­0.16743109  
-­0.24998669    0.44985044    0.12732572    0.11738938  
0.06599797  -­0.00891511    
  

a+b1X1+b2X2    

a 1b
2b
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R  
>  residuals(results,  "partial")  
                        X1                    X2  
1    -­0.76912937  -­0.41108794  
2      0.32968269    0.60300506  
3      0.32892600    0.96637293  
4      0.09356385  -­0.62699494  
5      0.03764038    0.21637293  
6      0.44452402    0.72932643  
7    -­0.09105780  -­0.52761648  
8    -­0.04772987  -­0.01088075  
9    -­0.09912127  -­0.69088075  
10  -­0.22729863  -­0.24761648  
attr(,"constant")  
[1]  11.876  
  

   .             
     R     

      1      2       
                      
          

>  newx1<-­(X1-­mean(X1))/sd(X1)  
>  newx2<-­(X2-­mean(X2))/sd(X2)  
>  lm(Y~newx1+newx2)  
Call:  
lm(formula  =  Y  ~  newx1  +  newx2)  

  
Coefficients:  
(Intercept)                newx1                newx2      
        11.8760            -­0.2488              0.5502      

>  -­0.44421731-­0.2488*newx1[1]  
[1]  -­0.7691031  

i 1 11
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R  
>  plot(residuals(results,  "partial")[,1],X1)  
>  plot(residuals(results,  "partial")[,2],X2)  
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R  
>  summary(results)  
Call:  
lm(formula  =  Y  ~  X1  +  X2)  
Residuals:  
          Min              1Q      Median              3Q            Max    
-­0.44422  -­0.12780    0.05365    0.10521    0.44985    
  
Coefficients:  
                                        Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)    10.3015          1.8965      5.432  0.000975  ***  
X1                      -­0.2663          0.1237    -­2.152  0.068394  .      
X2                        8.4947          1.7850      4.759  0.002062  **    
-­-­-­  
  
  

  
  
Residual  standard  error:  0.2754  on  7  degrees  of  freedom  
Multiple  R-­squared:      0.9,            Adjusted  R-­squared:  0.8714    
F-­statistic:    31.5  on  2  and  7  DF,    p-­value:  0.0003163    

  

  
  

a se(a)
P-­ a  

1b

2b
1se(b ) 1se(b )

P-­ b1  

P-­ b2  

R2  
  

  

F   P-­ F     

yxs
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>  residuals(results)  
                    1                              2                                  3                                    4                                      5                                6    
-­0.44421731    0.06868776    0.04129893  -­0.16743109  -­0.24998669    0.44985044    
                    7                              8                                  9                                    10    
  0.12732572    0.11738938    0.06599797  -­0.00891511    

>  predict(results)  
              1                      2                      3                            4                            5                          6                    7                          8    
11.58422  12.67131  13.08870  11.67743  12.62999  12.15015  11.00267  11.58261    
              9                  10    

10.95400  11.41892    

>  confint(results)  
                                  2.5  %          97.5  %  
(Intercept)    5.8170162  14.7860314  
X1                    -­0.5589333    0.0262906  
X2                      4.2738001  12.7156214  

  

R  
  

a  

b1  (   

xi  

  

b2  (   
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>  predict(results,list(X1=c(10,11),  X2=c(0.42,  0.48)),  int="c")  
              fit            lwr            upr  
1  11.20609  10.84469  11.56749  
2  11.44945  11.09098  11.80792  

>  predict(results,  int="c")  
                fit            lwr            upr  
1    11.58422  11.16318  12.00526  
2    12.67131  12.35100  12.99163  
3    13.08870  12.66797  13.50943  
4    11.67743  11.17108  12.18378  
5    12.62999  12.30291  12.95706  
6    12.15015  11.89970  12.40060  
7    11.00267  10.66952  11.33582  
8    11.58261  11.32699  11.83823  
9    10.95400  10.58816  11.31985  
10  11.41892  11.13701  11.70082  

R  

y     
xi  

y     
x1 x2  = x x2  =0.48    
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R  

  
>  qqnorm(residuals(results))  
>  qqline(residuals(results))  
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R  

>  plot(results$res,  results$fitted)  
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R  

>  plot(1:10,results$res)  
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R  

  
  

              
   R2=   0.9,        

           
              0.87  

               
  

  

1 2y 10.30 0.27x 8.49x .

y xs 0.27 (
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R  
           b1           P-­                  

   . .   5%                          
               1                 

            (                2     
.    

            b2            P-­               
                  2              

            (                1     
.                          

  1                          
8.49,                             

   .  
                 p-­               
            .           

                          
              10.30.                
        
         F-­test                    

b1=b2=0,                       
                     .    
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   :           
              
           

              
   .              
              

                 
                 

      .     
              

                 
         .    
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   :        

(confounder)                    
                    

                  .     
                       

                    
                        .  

                       
                    

                 
                       

                                            ,           
                       

                             
            .  

( | ) a bX
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         (Internet),  
            (GDP)  
                    

  (Fertility),     39   .      
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INTERNET GDP FERTILITY 

0.65 6.09 2.8 

10.08 11.32 2.4 

37.14 25.37 1.7 

38.7 26.73 1.3 

31.04 25.52 1.7 

4.66 7.36 2.2 

46.66 27.13 1.5 

20.14 9.19 2.4 

2.57 4.02 1.8 

42.95 29.00 1.8 

0.93 3.52 3.3 

43.03 24.43 1.7 

26.38 23.99 1.9 

INTERNET GDP FERTILITY 

37.36 25.35 1.4 

13.21 17.44 1.3 

0.68 2.84 3.0 

1.56 6.00 2.3 

23.31 32.41 1.9 

27.66 19.79 2.7 

38.42 25.13 1.3 

27.31 8.75 2.9 

3.62 8.43 2.5 

49.05 27.19 1.7 

46.12 19.16 2.0 

0.10 0.85 5.4 

46.38 29.62 1.8 

INTERNET GDP FERTILITY 

0.34 1.89 5.1 

2.56 3.84 3.2 

2.93 7.10 1.1 

1.34 13.33 4.5 

6.49 11.29 2.6 

18.27 20.15 1.2 

51.63 24.18 1.6 

30.70 28.10 1.4 

6.04 5.89 2.4 

32.96 24.16 1.6 

50.15 34.32 2.1 

1.24 2.07 2.3 

0.09 0.79 7.0 
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>  summary(lm(data$INTERNET~data$FERTILITY))  
  
Call:  
lm(formula  =  data$INTERNET  ~  data$FERTILITY)  
  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­28.662  -­13.890      1.424    10.436    26.727    
  
Coefficients:  
                              Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)            40.577            5.451      7.444  7.32e-­09  ***  
data$FERTILITY      -­8.169            2.035    -­4.013    0.00028  ***  
-­-­-­  

  
  
Residual  standard  error:  15.62  on  37  degrees  of  freedom  
Multiple  R-­squared:  0.3033,          Adjusted  R-­squared:  0.2845    
F-­statistic:  16.11  on  1  and  37  DF,    p-­value:  0.0002803    
  

>summary(lm(data$INTERNET~data$FERTILITY+data$GDP))  
  
Call:  
lm(formula  =  data$INTERNET  ~  data$FERTILITY  +  data$GDP)  
  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­23.155    -­4.758      0.454      2.761    20.061    
  
Coefficients:  
                              Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)          -­3.1970          5.6922    -­0.562        0.578          
data$FERTILITY    -­0.1180          1.4399    -­0.082        0.935          
data$GDP                  1.5392          0.1692      9.099  7.28e-­11  ***  
-­-­-­  

  
  
Residual  standard  error:  8.718  on  36  degrees  of  freedom  
Multiple  R-­squared:  0.7889,          Adjusted  R-­squared:  0.7771    
F-­statistic:  67.25  on  2  and  36  DF,    p-­value:  6.957e-­13    
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   Fertility        

        
        

  GDP.    
           

     3      .  
    

>  cor(data)  
                                        INTERNET                GDP    FERTILITY  
INTERNET      1.0000000    0.8881536  -­0.5507279  
GDP                      0.8881536    1.0000000  -­0.6145094  
FERTILITY  -­0.5507279  -­0.6145094    1.0000000  
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.              

           
           

                 
         .        

                    
        25         inches   (Height)  
               cm        

(LeftFoot)                 
(RtFoot).                 

              
Height           LeftFoot  
  RtFoot.    
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Height LeftFoot RtFoot 

69.0 27.0 26.5 

79.0 29.0 27.5 

75.0 31.0 32.0 

69.0 25.5 25.5 

65.0 23.5 23.0 

79.0 28.0 28.0 

72.0 28.5 28.5 

69.5 27.0 27.0 

73.0 30.6 31.4 

71.5 27.4 28.5 

69.5 27.0 27.0 

73.0 28.5 27.5 

71.0 29.0 27.0 

Height LeftFoot RtFoot 

74.0 29.0 30.0 

75.0 28.0 29.0 

71.0 27.0 27.5 

72.0 26.5 27.5 

66.0 25.5 26.0 

71.0 29.0 28.0 

67.0 27.2 27.0 

71.0 29.0 28.5 

72.0 28.0 28.0 

72.0 28.5 29.0 

73.5 29.0 30.0 

73.0 23.5 24.0 
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>summary(lm(data$Height~data$LeftFoot+data$RtFoot))  
  
Call:  
lm(formula  =  data$Height  ~  data$LeftFoot  +  data$RtFoot)  
  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­4.1330  -­1.6460  -­0.5014    0.6246    6.9920    
  
Coefficients:  
                            Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)        43.9334          8.9983      4.882        7e-­05  ***  
data$LeftFoot      0.6379          0.7730      0.825        0.418          
data$RtFoot          0.3647          0.7096      0.514        0.612          
-­-­-­  

  
  
Residual  standard  error:  2.905  on  22  degrees  of  freedom  
Multiple  R-­squared:  0.3072,    Adjusted  R-­squared:  0.2442    
F-­statistic:  4.877  on  2  and  22  DF,    p-­value:  0.01765    
  

>  summary(lm(data$Height~data$LeftFoot))  
  
Call:  
lm(formula  =  data$Height  ~  data$LeftFoot)  
  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­4.2327  -­2.0302  -­0.5309    0.4698    6.9684    
  
Coefficients:  
                            Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)        44.0701          8.8493      4.980    4.9e-­05  ***  
data$LeftFoot      0.9986          0.3189      3.131    0.00469  **    
-­-­-­  

  
  
Residual  standard  error:  2.859  on  23  degrees  of  

freedom  
Multiple  R-­squared:  0.2989,          Adjusted  R-­squared:  

0.2684    
F-­statistic:  9.804  on  1  and  23  DF,    p-­value:  0.004689    
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>  summary(lm(data$Height~data$RtFoot))  
  
Call:  
lm(formula  =  data$Height  ~  data$RtFoot)  
  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­4.1460  -­1.5424  -­0.5241    0.2686    7.5095    
  
Coefficients:  
                        Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)    46.8408          8.2224      5.697  8.43e-­06  ***  
data$RtFoot      0.8964          0.2955      3.033    0.00591  **    
-­-­-­  

  
  
Residual  standard  error:  2.885  on  23  degrees  of  

freedom  
Multiple  R-­squared:  0.2857,          Adjusted  R-­squared:  

0.2547    
F-­statistic:  9.201  on  1  and  23  DF,    p-­value:  0.00591    
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.  

              
              

.        >  cor(data$RtFoot,data$LeftFoot)  
[1]  0.9078141  
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:                
                       
                    
   .        

                    
                 
              30.    
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.                 
                       
         . .                 

                     .     
                 

                 
                    

                    
         .     
                 

            (m-­1)           
m                       

                  0      1.     
                        (4  
           3      :    
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1 2 3

1,  

0, 

 
 

1 2 3 1 1 2 2 3 3E Y



     93  

  

              
                 
  4      :  

1
1 2 3

2

3

a,  

a b , 
E(Y | X ,X ,X ) .

a b ,  

a b ,  
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      (reference   category),              
                             
                  .              
                          

                                
            .  

                       
                       
.             a              

               1  =   2  =   3  =  0,              
         .        b1        

                          
                          
.                  .    

                          
                          

(One   Way   ANOVA).                       
                          

one  sample  t-­test               .    
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:                       

)                    
      1                    

      2   (1   =         2   =  
         3   =           

               .          
                    

              

   1 22 23 1 1 2 22 3 23E(Y| X ,X ,X ) a b x b x b x

22 23

1,  

0, 
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   25 22 20 32 35 28 19 17 20 26 28 34 40 42 28 19 

1   2 1 2 5 7 3 2 1 2 2 5 5 7 6 3 1 

2   2 2 1 3 2 3 1 1 2 2 2 3 3 3 2 1 
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                     data.txt  
                  R)           

  16×3.  
  
>  data<-­matrix(scan("data.txt"),  ncol=16,  byrow=T)  
Read  48  items  
>  data  
          [,1]  [,2]  [,3]  [,4]  [,5]  [,6]  [,7]  [,8]  [,9]  [,10]  [,11]  [,12]  [,13]  [,14]  
[1,]      25      22      20      32      35      28      19      17      20        26        28        34        40        42  
[2,]        2        1        2        5        7        3        2        1        2          2          5          5          7          6  
[3,]        2        2        1        3        2        3        1        1        2          2          2          3          3          3  
          [,15]  [,16]  
[1,]        28        19  
[2,]          3          1  
[3,]          2          1    
>  y<-­data[1,]  
>  x1<-­data[2,]  
>  x2<-­data[3,]  
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>  x2<-­as.factor(x2)  
>  x2  
[1]  2  2  1  3  2  3  1  1  2  2  2  3  3  3  2  1  
Levels:  1  2  3  
>  results<-­lm(y~x1+x2)  
>  summary(results)  
Call:  
lm(formula  =  y  ~  x1  +  x2)  
Residuals:  
        Min            1Q    Median            3Q          Max    
-­3.5729  -­1.1971  -­0.1892    1.4296    4.9010    
  
Coefficients:  
                        Estimate  Std.  Error  t  value  Pr(>|t|)          
(Intercept)    15.1894          1.3709    11.080  1.17e-­07  ***  
x1                        2.3737          0.4058      5.850  7.84e-­05  ***  
x22                      3.6360          1.6780      2.167      0.0511  .      
x23                      7.6672          2.2294      3.439      0.0049  **    
-­-­-­  

  
  
Residual  standard  error:  2.457  on  12  degrees  of  freedom  
Multiple  R-­squared:  0.9187,          Adjusted  R-­squared:  0.8983    
F-­statistic:  45.18  on  3  and  12  DF,    p-­value:  8.193e-­07    

  

  

R     
   1      
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>  model.matrix(results)  
      (Intercept)  x1  x22  x23  
1                        1    2      1      0  
2                        1    1      1      0  
3                        1    2      0      0  
4                        1    5      0      1  
5                        1    7      1      0  
6                        1    3      0      1  
7                        1    2      0      0  
8                        1    1      0      0  
9                        1    2      1      0  
10                      1    2      1      0  
11                      1    5      1      0  
12                      1    5      0      1  
13                      1    7      0      1  
14                      1    6      0      1  
15                      1    3      1      0  
16                      1    1      0      0  
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      :              

                       
            15190,           
                    

                  2370     
         ,    

                       
3640                    
                          
                    
            7670        
                          
            .    
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1 22 23 1 22 23E(Y|X ,X ,X ) 15.19 2.37x 3.64x 7.67x

1

1
1 22 23

1

15.19 2.37

(15.19 3.64) 2.37E(Y |X ,X ,X )
(15.19 7.67) 2.37
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>  plot(x1,y,type='n')  
>  abline(15.19,2.37,  col=1)  
>  abline(18.83,2.37,  col=2)  
>  abline(22.86,2.37,  col=3)  
>  legend(1,40,  lty=1,  

col=1:3,legend=c("High  School",  
"University",  "Master"))  

1 2 3 4 5 6 7

20
25

30
35

40

x1

y

High School
University
Master
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            .   . .           
                       
         :      

  
>  x2  <-­  factor(x2,  levels  =  c(2,  1,  3))  
>  x2  
[1]  2  2  1  3  2  3  1  1  2  2  2  3  3  3  2  1  
Levels:  2  1  3  
>  lm(y~x1+x2)  
Call:  
lm(formula  =  y  ~  x1  +  x2)  
  
Coefficients:  
(Intercept)                      x1                    x21                    x23      
          18.825                2.374              -­3.636                4.031      
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>  model.matrix(lm(y~x1+x2))  
      (Intercept)  x1  x21  x23  
1                        1    2      0      0  
2                        1    1      0      0  
3                        1    2      1      0  
4                        1    5      0      1  
5                        1    7      0      0  
6                        1    3      0      1  
7                        1    2      1      0  
8                        1    1      1      0  
9                        1    2      0      0  
10                      1    2      0      0  
11                      1    5      0      0  
12                      1    5      0      1  
13                      1    7      0      1  
14                      1    6      0      1  
15                      1    3      0      0  
16                      1    1      1      0  
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   ,           

              
      .      


